ANTIDIFFERENTIATION = INTEGRATION

$$y = x^{4}$$

$$dx = 4x^{3} dx$$

$$\int (6x - 30x^{4}) dx$$

$$\int (8x^{5} - \frac{1}{2x^{6}} + \sqrt[3]{x^{2}} - 5) dx$$

$$\int (8x^{5} - \frac{1}{2}x^{6} + x^{2/3} - 5x) dx$$

$$= \frac{8x^{6}}{6} - \frac{1}{2}x^{5} + \frac{3}{5}x^{3} - 5x + C$$

$$= \frac{4}{3}x^{6} + \frac{1}{10}x^{5} + \frac{3}{5}x^{3} - 5x + C$$

$$\int (x^{2}-3)(x^{5}+8x)dx \qquad \frac{Indefinite | Inkgrals}{+ + C}$$

$$\int (x^{7}+8x^{3}-3x^{5}-24x)dx \qquad + \text{ no numerical valu}$$

$$= \frac{x^{8}}{8} + \frac{8x^{4}}{4} - \frac{3x^{6}}{6} - \frac{24x^{2}}{2} + C$$

$$= \frac{x^{8}}{8} + 2x^{4} - \frac{1}{2}x^{6} - 12x^{2} + C$$

$$\int \frac{3p^{4}-2p^{2}+9}{p^{2}ls} dp$$

$$\int (3p^{5}-2p^{2}+9)p^{-2/3}dp$$

$$= \frac{3}{13}\frac{3p^{3}-3}{7}\frac{2p^{3}}{7}\frac{4}{7}\frac{3p^{3}}{7}\frac{4}{7}\frac{3p^{3}}{7}\frac{4}{7$$

DEFINITE INTEGRALS & Answer 15

$$\int_{-1}^{2} (6x^{2}-2x+1) dx$$

$$= \frac{6x^{3}}{3} - \frac{2x^{2}}{2} + x + C \Big|_{-1}^{2}$$

$$= 2x^{3} - x^{2} + x + C \Big|_{-1}^{2}$$

$$= 16 - 4 + 2 + C + (+2 + 1 + 1 + C)$$

$$= 18$$

$$\int_{4}^{9} \left(\frac{1}{\sqrt{x}} + 2\sqrt{x} \right) dx$$

$$\int_{4}^{9} \left(\frac{1}{\sqrt{x}} + 2\sqrt{x} \right) dx$$

$$= 2x^{1/2} + 2x^{$$

